W 1.1 Factors and Multiples (6.NS.4)

A comimon Tactor is a number that is a factor of two or more numbers.
The greatest of the commion factors of two or more numbers is called
the greatest common factor {GCF).

The least number that is a multiple of two or more whole numbers is
the least common multiple {LCM) of the numbers.

Fill in the charts helow.
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| sGreatest Common Factor - largest same number that is a '“F&(ﬂ \"( of two or more
f numbers.

sLeast Common Multiple ~ smallest same number that is a Y LA l"h g’}\ g/ of two or more |
- numbers. '




% 1.1 Factors and Multiples (6.NS.4)

Guided Practice
’/\J’»ind the greatest common factor.
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7.} The Movie House gives away a $5 coupen for every 4 movies urchased They give away a bag of
popcorn for every 3 movies purchased How many fovies would you Rave to purchase in all before

receiving both a $5 coupon and oG of popcorn at the same purchase? - LC M
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Building on the Essential Question - In a word problem, how do you know if you are supposed to find the
LCM Or GCF?
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Rate Yourself ~ Are you ready to move on? Shade the section that applies.  ~f1 Y\GL 1hat
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